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General Instructions:

(i) The question paper comprises of three Sections, A, B and C. You are to attempt all the
sections.
(i) All questions are compulsory.

(iii)y ~ There is no choice in any of the questions.

(iv)  All questions of Section-A, Section-B and Section-C are to be attempted separately.
(v) Question numbers 1 to 3 in Section-A are one mark questions. These are to be
answered in one word or in one sentence.

Question numbers 4 to 6 in Section-A are two marks questions. These are to be

answered in about 30 words each.———

(vii) Question numbers 7 to 18 in Section-A are three marks questions. These are to be
answered in about 50 words each. -

(viii) Question numbers 19 to 24 in Section-A are five marks questions. These are to be
answered in about 70 words each.

(ix) QUf-“S!iOH .m.lmberis 25 to '*'3 in Section-B are multiple choice questions based on
practical skills. Each question is a one mark question. You are to select one most

(vi)
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appropriate response out of the four provided to you. ’
(x) Question numbers 34 to 36 in section B are two marks questions based on practical

skills. These are to be answered in about 30 words each. _
(xi)  Question number 37 from section C is based on Open Text themes and is ‘?L].O ) marks.

urr-31 / SECTION-A

Write the names of three elementary particles which constitute an atom.

2 RIS ) Al saeen ¥ A7) 1 suerd @ #1 @A Sl B 39 A4 %1 I qad|
Protochordates possesses a notochord in larval forms. Appraise the use of this feature in these
animals ?

3 3 ufFs ¥ w9 fafae % ofomy @eT sfadsw & @ud 8 @ a91 FEA TRATFEES F 1
IqTeT Bl T

Name two processes that consume oxygen and produce carbon dioxide.

4 Uamifes UFfaeia &2 WhR & Jaiiar W ywEt §1 SR e S | 2

The antibiotic penicillin is effective against many bacteria. State reason.

g
B
g

5 wEd ® fae e Sl
State the laws of floatation. ,\ WQ. l\k ‘H\g_ @L\I'ch'_ jmmﬂm

=W Qk‘( water ishlaceh
o Frelt uig & Ae @ AR g BN OM W E A wg B @ IR @ fer s
Frv fafau)

Write a suitable reason for heating up of a metal when hit by a fast moving hammer.

S

N

3 Pelt el T AT @ AT 1 WAF ¥ 2 AguAnE st & A ferfEn a o a1 et 3
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T3 1 fafaw

Wh?t do you understand by atomicity of an element ? Name two poly atomic slents s BES
their chemical formulae. 0 ‘

B () Wl uF @ ae A e @ g & 0 ST 20 G I
(b) arﬁ%wmmw$ﬁmﬁmﬁmﬁwaﬁ%l

(a) Do isobars belong to the same element ? Justify your answer by giving one example.

\

(b) Name two elements whose isotopes are used in the field of medicine. ”~

9 T QA1 A F wed Q) fagall A fadey wifqu) 9ig 9 S1ug g 9ifel 0 faemeE Q ywR E 3
HAFAT 1 I T g faan F fafan

Write two points of difference between an atom and an ion. Explain by giving examples two types of
ions present in the compound composed of metals and non-metals. .

10 ISF A I U a & A o, AfE fe O I gfe 3w 3 @ frofa fan seR e e 3
A W IHH FHIE Y9 76 T2 AfFA 396 119 343 gL A ) GshAvr € 191 a9 g e g8 |
AT 7 {9 1 @ 3 SR g A T 1 SwEm A o gmst fan)

= wedi & s s

(i) ¥ ) Gshwor 1 e gen ?

(i) M Ten @i R R & m ¥

(iii) v 3 o ol e

Ranjan was suffering from severe cold and cough, still he decided to appear in the unit test.

Sobhan seated next to Ranjan was not affected but Robin seated behind got infected and
suffered a lot. The teacher advised Ranjan to use clean handkerchief during coughing and

sneezing,
Answer the following questions : 5
Y
i /hy di infected ? A\
(i) Why did Sobhan not get infected ? F;‘LI(?
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(i) ~ What type of disease is cold and cough ?

(i) ~ What values are shown by the teacher ?

1 Fre cEel w3 Qg i e 9 TR e wee g
() HIE FH
(b)  ARIHE

() Wl % et A

Associate the following features with groups in which they first appeared.
( Vascular tissues

> hY
(»  Notochord /
() Seeds inside fruits

Y uF weH 10 m x 10 m fawsl A e @ 4= F ¥ g ¥ U # <@ SR w v
T ¥ T AR U 9eF ¥ Uew W U W@ gN W S9= B §1 gwmEu R e
a7 Hva 3 ¥ 39 wed w5 wfeafy g i

A boy is sitting in the middle of a park of dimension 10m x 10m. On the right side of it
there is a building adjoining the park and on the left side, there is a road adjoining
the park. A sound is produced by a cracker on the road. Is it prossible for the boy to
hear the echo. Explain. o

13 woiE # uftam fafEw 150 N # U w9 15 a9 9W. S W e ¥ iR den = 3
yfisrferd ®ifaa|

Define thrust. A force of 150 N acts on a surface of area 15 cm?. Calculate thrust and pressure. ©

—

1% o W F s @ 9ER 20 Hz § 20,000 Hz ¥1 7 S Rl w8t g sty g 5 3
o] fapadt ghil? (ga1 # =1 # T 344 m/s R1)

A man has an audible range from 20 Hz to 20 KHz. What are the wavelengths of
sound in air corresponding to these two frequencies. (Speed of sound in air is 344

m/s.)
15 (a) = ® a1 H quE Y yeR INRHG war &) 3
(b) €af1 &1 3T qen S IR Fifg

(a) How temperature affects the velocity of sound? -
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(b) Define velocity of sound and timeperiod. )

16 M % Wedl H snaf, ain 3ud agr whreafy § g qeed 22

With reference to sound what do you mean by frequency. wavelength and echo.

17 e qur SR 3 @ i figall § Faied Ff

Mention three points of differences between nitrification and dentrification? A\

18 ) )
Hwﬁﬁmmmaﬁaﬁﬁmﬁqﬂwaﬁmﬁm’él T H ) Ife FHfor |
"Vegetation cover helps in preventing soil erosion. Justify the statement.
19 (a)

C2H, =1 3nfvers gamm 30 2 A T WAV FW Tfwferd Fifa |,
(b) aﬁ;m%wnﬁawwszg%a&mﬁw%@mwwam%‘mr?
() . WWW@W?@W;
(NHa)2(SOx)s, (NH1),S04, NH4(SO,)
(a) The molecular mass of CoHj is 30. Calculate the atomic mass of Carbon.

(b) If one mole of sulphur weighs 32 grams, what is the mass (in grams) of 1 atom of
sulphur. B8 2e®?

(c) Identify the correct formula for ammonium sulphate

(NH4)2(SO4)s (NH)250s, NHy(SOsf,

20 =1 el 1 e Fifa
(a)  UTHF B, T T 2
(b) U= =G @Rl & Tl e w1 @R 3781 ST §
(© vl i ) arden viiw % ol &0 @ S difeq a9 8
Explain the following statements :

(a) - Being disease free, is not the same as being healthy.
(b)  Community health is essential for good individual health.
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()  Villagers suffer with cholera moré than urban people.
¢ .

@ mﬁmmmﬁwﬁwwww”ﬁ*“w'
21 a
) e e e e 1 P o

(©) mﬁaﬂﬁqmmwaﬁaﬁwwﬁ%?

: me and scientific
(a) Identify the organism shown in the picture and write the common na
name of the organism.

(b) Name its phylum and kingdom.

. .
() Which organ of digestive system normally harbours this organism -

-V
22 (a)mﬁnﬁwm|mmﬂw51mmlwmm$fmms
fefag|
(b)qasmétmﬁsomeﬁiﬂwu'cﬁﬂﬁﬁmaﬁﬁwmwaazsoN g, fmar m
mqﬁmmumﬂmmmsﬁmzﬁml
(c)uﬁMaﬁmWwﬁﬁma%m%.aﬁmwmwm?
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) ?
(d)ﬁaﬁ‘ﬁa@qﬁwammﬁa%mmwwwm -
' itive work done.
(a) Define work. Give SI unit of work done. Write an expression for pos!

(b) Calculate the work done in pushing a cart through a

friction equal to 250 N. Also state the type of work done- © -
o the direction

st ked endicular &
(c) What will be the work done, if displacement of the object is PETP

of force ?

. ?
(d) When an object moves ona circular path, what will be the work done !

23 afEdE w1 fagra e Hife
qﬁ#ﬂﬁaﬁmw%ﬁﬁﬁwmfﬂlm%?

mewmgwwmﬁmmmmm%ﬁ%?

State Archimedes’ principle.
How is it easier to swim in sea water than in river water 7

How can we determine the density of a solid object by using Archimedes’ principle ? o

24 aRd fHE TEH A €7 2 4 e fpard ferfa for =g yguw @ @1 dia § WS H#OS
THAE |

How are clouds formed ? List any three human activities that you think would lead to air
pollution and briefly explain each of them.

T-€ / SECTION - B

iy el 3 e 2 e 3 e & fore feq ot Al st & wnfeer e s g S ¥ 1

25
o 7 o7 R & e fam i e o o
(a) @Wﬁﬁﬁﬁmﬁﬁﬁﬁmﬁﬂ%|
(b) aftwreeR gt o whiad |
Page 7 of 12

Jcilicialcu vy calriovaiitier imulil ninsiy.vultl

— A |



(© W v v d A

(d) S fee T d § R

of reflection of sound waves.

Metallic tubes are used in the experiment for verification of laws
hese tubes are highly polished because they make the sound waves to

(@) have multiple reflections and prevent spreading of sounc;/

(b) concentrate into powerful beam
(c) move in straight lines
(d) none of these

we s T §5mH 80 kg &, iﬁwaﬁﬁﬁma@mmmplw%amgﬁqmmﬁm 1
T P, A1 | Py A% Py H WM E

26

(@ DPp>P (b) Py<P,

(c) Py=Pp (d)  Py="Pyy
A man weighing 80 kg exerts pressure P; when standing on both the feets on the ground and
pressure P, when lying on the ground. The relation between Py and Py is

(@  P>Pa (b) Pi<P

(@ P1=Ph (d) Py=Pyp

27 %ﬁaﬁﬁﬁ4KHzaﬂqfﬂ@W%,m;mmaﬁmaﬁﬁﬂimaﬁﬁmaqﬁl

safy ) 9 344 m/s 81 HE IW B-
(a) 86.0 m (b) 80.6 m (c) 0.086 m (d) 8.06 m
ed by a body vibrating with a frequency 4 KHz. The

Find the wavelength of the tone produc
speed of sound in air is 344 m/s. The eorrect answer is:

(a) 86.0 m (b) 80.6 m () 0.086 m (d) 8.06 m
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28 ﬁmﬁﬁm%@qaﬁmqﬁq@%?

(@ I S

(b)  AH-g dam
(© &0 e

(d) > der

Which are the most primitive algae ?
(a) Red algae

(b) Blue - green algae -

(c) Green algae

(d)  Brown algae

29 1.16gmmmﬁmﬁw%mq@ﬁwmwﬁmm@%1.7g:§1fgw |

B A1 2.87 g foea FARES Wi & :
(@) 341g (b) 286g
(c) 287¢g (dy 457g
1.16 g sodium chloride should react with how much silver nitrate to form 1.7g sodium nitrate
and 2.87 g silver chloride ?
(a) Ifg (b) 286¢g
(c) 287¢g (d) 4.57 g

@Wﬁmﬁmﬂwm%mwwm#mﬁmﬁﬁmwm 1

30
B ?
@ e aeige SR Aifean FATES
) WWWWW
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(d)  Wfeam wolhz s Gifsay wwEie

Which of the following pair is suitable to verify the law of conservation of mass in a chemical

reaction ?

(a) Barium Chloride and Sodium Chloride.
(b) Barium Sulphate and Sodium Sulphate.
(c) Copper Sulphate and Sodium Carbonate. .

(d) Sodium Sulphate and Sodium Carbonate.

31 = & 4 g w=Y A quen weds war s e
(a) T (b) T (c) 99 (d) =T

Which of the following plants has tap root system :

(a) wheat (b) grass,(c) kidney beans (d) paddy

32 frafafgd 4 @ a1 faT $a F a9 394 F -

(a) R (b) B (c) ¥ (d) TIEHH

Which of the following produce seeds without fruit :

(a) grapes (b) fern (c) paddy (d) cycas

33 #H gt e e ] LSV IGIEG
(a) qh (b) Al
() =W (@ R
Which one of the stage metamorphose
(@)  Adult ®)  larva.

(C) pupa (d) Eggs
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34 WWW%mﬁWWmWW( 3 g 2 oo i & o & 752

Pt e 8 Tt 3 50 g o s e o e e €7

: is preferred
In an experiment to find density why the measuring cylinder with less least count is p
? When a solid block is fully immersed in water, how much will be the

of the block ?

apparent loss in weight ©

35 %ﬁwﬁ%-ﬂ%m@mwmﬁ?ﬂmmﬂmw’ ?
What do you understood by relative density of a material and give its Sl
unit ?

36 el Sigel & frdf @ argeper B g g .
List the two adaptations present in aquatic animals.

HIT- | /Section - C
(* Please ensure that open text of the given theme is supplied with this question paper)
37 Theme-1I (Environment and Development - Lessons from the Hills) (5+5): 10

(a)%amuﬁgégzmmﬁmwﬁaﬁﬁmaﬂtmaw&ma@
mﬁéﬁﬁﬁmwnmﬂwﬁamﬁma%mmm
Qﬁﬁqﬁ%mﬁaﬁa&aﬂtnsﬁﬁaosﬁzonwa@qﬁmmnﬂw
1 e fafad

(b) WF?‘T-&#%%Wﬁ%ﬁma‘ﬁa%quﬂmmwmmmgmmﬁm
wﬁmﬁw%rwmmﬁﬁmmmmﬁawﬁ
X G ¢ ? AT TR F fown | fafad i

(3) A Multi-agency rescue and relief operation w; i
‘as put in affected areas
after
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disaster and number of people airlifted between 17 June to 30 June 2013,

I3

(b} There has been a demand that India needs to have a separate disaster management and
mitigation strategy for the Himalavan region Do you think such a system will help in
dealing with future Calamities ? Elaborate on vour answer
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